Unit Test Report
for POS System

« Test Cases Specification

» Test Summary Report

Project Team

Team 5

Latest update on:
2017-11-06

Team Information

201211355 £X|
201610401 &3}
201611303 =X

[HIAE =) Team 5

Ver. 1.0.2



1

1.1

1.2

2.1

2.2

2.3

24

41

4.2

Introduction

Unit test case specification

Objectives

References

Test case specification identifier

Test items

Ver. 1.0.2

Table of Contents

INPUL SPECITICATIONS ..o. ettt ettt sttt

OULPUL SPECITICALIONS c.ovvvveerverii ittt sss sttt sttt

ENVITONMENTAI NEEAS ..ottt ee s e e e ss e e eesss s sassasss s essssaseaseassassesnseen

UNit t@ST SUMMATY FEPOIT c.oveereereesiteseiesite sttt sttt ss bbbt

Test SUMMATY rEPOIt IAENTITIEI ...ttt bs st st ssss e

Evaluation

Im
2
1

Team 5



[

El
=

Ver. 1.0.2

Introduction

1.1 Objectives

e

=M= 20179 A=Oistuo] AZEQ0Ss HE 4 = dEoCE o
& ItFl& Point Of Sale (POS) Systeme AZEQ 0TS 0|23t 719 A|ARICRZ
o1 St= ZAO|CE,
1.2  References
[2017SE_B][T5]SRA
[2017SE_B][T5]SDS
Unit test case specification
2.1  Test case specification identifier
|dentifier Input Specification Output Specification
POS_1.3_000 mode : 1 settle_flag: 0
n: 0 function: Sale Mode
POS_1.3_001 mode : 2 settle_flag: 0
n:0 function:  Quantity ~ Change
Mode
POS_1.3_002 mode: 3 settle_flag: 1
n:0 function: Money Received Mode
POS_1.3.003 mode: 4 settle_flag: 0
n: 1 function: Refund Mode
POS_1.3_004 mode: 4 settle_flag: 1
n: 2 function: NULL
POS_1.3_005 mode: 5 settle_flag: 0
n: 0 function: “Can not check Stock”
POS_1.3_006 mode: 5 settle_flag = 1
n:1 function: Stock Check Mode
POS_1.3_007 mode: 6 settle_flag = 0
n: 0 function: Reselect Mode
POS_1.4 000 temp: 1 1 (Power_on)
POS_1.4 001 temp: 2 0 (Power_off)
POS_2.1_000 barcode: 001 index: 1
POS_2.1_001 barcode: 010 index: 2
AE Q3] Team 5 3
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POS_2.1_002 barcode: 011 index: 3

POS_2.1.003 barcode: 100 index: 4

POS_2.1_004 barcode: 101 index: 5

POS_2.1_005 barcode: 110 index: 6

POS_2.1_006 barcode: 111 index: 7

POS_2.3.000 index: 1 sale_info_quantity: 0
sale_info_quantity: 0 sale_info_total_price: 0
sale_info_total_price: 0 stock_info_quantity: O
sale_info_price: 1000 "Sold out”
stock_info_quantity: 0

POS_2.3 001 index: 1 sale_info_quantity: 2
sale_info_quantity: 1 sale_info_total_price: 1500
sale_info_total_price: 500 stock_info_quantity: 99
sale_info_price: 1000 "Sale_display”
stock_info_quantity: 100

POS_2.3_002 index: 2 sale_info_quantity: 4
sale_info_quantity: 3 sale_info_total_price: 2500
sale_info_total_price: 1000 stock_info_quantity: 3
sale_info_price: 1500 "Sale_display”
stock_info_quantity: 4

POS_2.3.003 index: 3 sale_info_quantity: 0
sale_info_quantity: 0 sale_info_total_price: 0
sale_info_total_price: 0 stock_info_quantity: O
sale_info_price: 3000 “Sold out”
stock_info_quantity: 0

POS 2.3 004 index: 4 sale_info_quantity: 6
sale_info_quantity: 5 sale_info_total_price: 2500
sale_info_total_price: 2000 stock_info_quantity: 49
sale_info_price: 500 "Sale_display”
stock_info_quantity: 50

POS_2.3 005 index: 5 sale_info_quantity: 0
sale_info_quantity: 0 sale_info_total_price: 0
sale_info_total_price: 0 stock_info_quantity: 0
sale_info_price: 800 “Sold out”
stock_info_quantity: 0

POS_2.3 006 index: 6 sale_info_quantity: 11

sale_info_quantity: 10
sale_info_total_price: 5000

sale_info_total_price: 6200
stock_info_quantity: 2
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sale_info_price: 1200

stock_info_quantity: 3

"Sale_display”

POS_2.3_007 index: 7 sale_info_quantity: 0
sale_info_quantity: O sale_info_total_price: 0
sale_info_total_price: O stock_info_quantity: 0
sale_info_price: 2000 “Sold out”
stock_info_quantity: 0

POS_2.4_000 index: 1 snd_money: 1000
recv_money: 4000 “Calculate_sale”
sale_info_total_price: 3000

POS_2.4 001 index: 2 snd_money: 0
recv_money: 4000 “Received Money deffeceincy”
sale_info_total_price :5000

POS_2.4 002 index: 3 snd_money: 1500
recv_money: 4000 “Calculate_sale”
sale_info_total_price: 2500

POS_2.4_003 index: 4 snd_money: 0
recv_money: 4000 “Received Money deffeceincy”
sale_info_total_price: 6000

POS_2.4_004 index: 5 snd_money: 4000
recv_money: 9000 "Calculate_sale”
sale_info_total_price: 5000

POS_2.4 005 index: 6 snd_money: 0
recv_money: 2000 “Received Money defficeincy”
sale_info_total_price: 8000

POS_2.4 006 index: 7 snd_money: 1200
recv_money: 4500 “Calculate_sale”
sale_info_total_price: 3300

POS_2.5.1_000 | index: 1 sale_quantity: 2
sale_info_quantity: 1 sale_total_price: 1500
sale_info_total_price: 500 stock_quantity: 99
sale_info_price: 1000 "Sale_display”
stock_info_quantity: 100

POS_2.5.1_ 001 index: 2 sale_quantity: 4

sale_info_quantity: 3
sale_info_total_price : 1000
sale_info_price: 1500

stock_info_quantity: 4

sale_total_price: 2500
stock_quantity: 3
“Sale_display”
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POS_2.5.1 002 | index: 3 sale_quantity: 1
sale_info_quantity: O sale_total_price: 3000
sale_info_total_price : 0 stock_quantity: 11
sale_info_price: 3000 "Sale_display”
stock_info_quantity: 12

POS_2.5.1_003 | index: 4 sale_quantity: 6
sale_info_quantity: 5 sale_total_price: 2500
sale_info_total_price: 2000 stock_quantity: 49
sale_info_price: 500 "Sale_display”
stock_info_quantity: 50

POS_2.5.1.004 | index: 5 sale_quantity: 5
sale_info_quantity: 4 sale_total_price: 800
sale_info_total_price: 0 stock_quantity: 19
sale_info_price: 800 "Sale_display”
stock_info_quantity: 20

POS_2.5.1. 005 | index: 6 sale_quantity: 11
sale_info_quantity: 10 sale_total_price: 6200
sale_info_total_price: 5000 stock_quantity: 2
sale_info_price: 1200 "Sale_display”
stock_info_quantity: 3

POS _2.5.1. 006 | index:7 sale_quantity: 9
sale_info_quantity: 8 sale_total_price: 2000
sale_info_total_price: 0 stock_quantity: 9
sale_info_price: 2000 "Sale_display”
stock_info_quantity: 10

POS_2.5.1. 007 | index: 0 sale_quantity: 9
sale_info_quantity: 9 sale_total_price: 0
sale_info_total_price: 0 stock_quantity: 5
sale_info_price: 4000 “Invalid Index”
stock_info_quantity: 5

POS_2.5.2.000 | index: 1 sr0:3
sale_info_quantity: 0 s_r 0_7: 2500
sale_info_total_price: 1000 "sale_display”
sr 0.3 "database_update”
s_r 0_7_i: 1500 "receipt_list_file"

“sale_receipt_print”

POS_2.5.2 001 index: 1 sr0:3

sale_info_quantity: 1

s_r_0_7: 3000

Team 5
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sale_info_total_price: 1000

sr 0?2
s_r_0_7_i: 2000

"sale_display”
"database_update”
“receipt_list_file"

“sale_receipt_print”

POS_2.6.1_000

check: 0
barcode: 001
t_barcode: 001
list_data: O

0

POS_2.6.1_001

check: 1
barcode: 001
t_barcode: 001
list_data: O

POS_2.6.1_002

check: 0
barcode: 001
t_barcode: 001
list_data: 1

POS_2.6.1_003

check: 0
barcode: 001
t_barcode: 010
list_data: 1

POS_2.6.1_004

check: 1
barcode: 001
t_barcode: 001
list_data: 1

POS_2.6.1_005

check: 1
barcode: 001
t_barcode: 010
list_data: 1

POS_2.6.2_000

refund_i_quantity : 0
refund_i_name : “snack”
stock_k_quantity : 2

stock_k_name: “water”

stock_k_quantity: 2

s 35

POS_2.6.2_001

refund_i_quantity : 1
refund_i_name : “snack”
stock_k_quantity: 2

stock_k_name : “snack”

stock_k_quantity: 3

SIA 5=
[m=]

T 2=

POS_2.6.2_002

refund_i_quantity : 1

refund_i_name “snack”

stock_k_quantity: 2

44 o2
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stock_k_quantity: 2

stock_k_name "water”’

POS_2.7.1_000

settle_flag: 0

o

POS_2.7.1_001

settle_flag: 1

POS_3.1.4_000

index : 1

sale_info_recv_money: 1000
sale_info_snd_money: 2000
sale_info_s_arr[index].name: “snack”
sale_info_s_arr[index].quantity: 0
sale_info_s_arr[index].price: 1000

sale_info_total_price: 5000

_I_?_i_ —_—
r2
T
o

POS_3.1.4_001

index : 1

sale_info_recv_money: 1000
sale_info_snd_money: 2000
sale_info_s_arr[index].name: “snack”
sale_info_s_arr[index].quantity: 1
sale_info_s_arr[index].price : 1000

sale_info_total_price: 5000

ot
=
M
i

POS_3.1.5_000

index: 1
stock_info_s_arr[index].quantity: O
stock_info_s_arr[index].name:
“snack”

stock_info_s_arr[index].price: 1000

fot
r2
h
m

POS_3.1.5_001

index: 1
stock_info_s_arr[index].quantity: 1
stock_info_s_arr[index].name:"snack”

stock_info_s_arr[index].price: 1000

ot
=
M
i

POS_3.1.6_000

index | : 1

year1: 2017

month1: 11

day1: 6

hour1: 12

min1: 7

t_price: 4500
refund_info[i]l.name: “snack”
refund_infol[i].price: 3000
refund_info[i].quantity: 0

ot
=
M
i

POS_3.1.6_001

index | : 1

fot
r2
Uh
J

[HAE g
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yearl : 2017

month1: 11

day1: 6

hour1: 12

min1: 7

t_price: 4500
refund_info[i]l.name: “snack”
refund_infol[i].price: 3000
refund_info[i].quantity: 1

for
r2
T
n

POS_3.1.7.000 | index I :1

sale_info: 0
sale_info_s_arr[i].quantity: 2
sale_info_s_arr[il.name: “snack”
sale_info_s_arrl[i].price: 1000
sale_info_s_arrl[i].total_price: 3500
stock_info_s_arr[i].name: “snack”
stock_info_s_arrl[i].price: 1000
stock_info_s_arr[i].quantity: O
year1: 2017

month1: 11

day1: 6

hour1: 12

min1: 7

e
r2
h
.

POS_3.1.7.001 | index|:1

sale_info: 1
sale_info_s_arr[i].quantity: 2
sale_info_s_arr[il.name: “snack”
sale_info_s_arrl[i].price: 1000
sale_info_s_arr[i].total_price : 3500
stock_info_s_arr[i].name: “snack”
stock_info_s_arrl[i].price: 1000
stock_info_s_arr[i].quantity: O
year1: 2017

month1: 11

day1: 6

hour1: 12

min1: 7

ot
=2
T
i

POS_3.1.7.002 | index | =1

sale_info: 1

[HIAE =) Team 5 9
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sale_info_s_arr]i

sale_info_s_arr[i

[il.quantity: 2
[
[
[

]
].name: "snack”
i].price: 1000

sale_info_s_arr[i].total_price: 3500

sale_info_s_arr

stock_info_s_arr[i].name: “snack”
stock_info_s_arrl[i].price: 1000
stock_info_s_arr[i].quantity: 1
year1: 2017

month1: 11

day1: 6

hour1: 12

min1: 7

POS_3.1.8_.000 | index | :1

sale_info_s_arr[il.name: “snack”

ot
=
M
i

sale_info_s_arrl[i].price: 1000
sale_info_s_arr[i].quantity: O
sale_info_total_price: 5000
yearl : 2017

month1: 11

day1: 6

hour1: 12

min1: 15

POS_3.1.8_.001 | index |:1

sale_info_s_arr[il.name: “snack”

fot
r2
h
.

sale_info_s_arrl[i].price: 1000
sale_info_s_arr[i].quantity: 1
sale_info_total_price: 5000
year1: 2017

month1: 11

day1: 6

hour1: 12

min1: 15

POS_3.1.9_000 index | :1
refund_info_quantity: 0

ot
r2
T
i

refund_info_name: “snack”
refund_info_price: 1000
year1: 2017

month1: 11

day1: 6

12
Im
2
1
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hourt: 12
min1: 17

ot
=2
M
iy

POS_3.1.9 001 index | :1
refund_info_quantity: 1
refund_info_name: “snack”
refund_info_price: 1000
year1: 2017

month1: 11

day1: 6

hour1: 12

min1:17

ot
=
M
i

POS_3.1.10_000 | index | : 1
stock_info_s_arr[i].name: “snack”
stock_info_s_arrl[i].price: 1000
stock_info_s_arr[i].quantity: 4
yearl : 2017

month1: 11

day1: 6

hour1: 12

min1: 19

fot
r2
h
.

POS_3.1.11_000 | index | : 1

day1:6

month1: 11

year1: 2017
sale_info_templil.name: “snack”
sale_info_temp]i].price: 1000
sale_info_templi].quantity: O
refund_info_templ[i].name: “snack”
refund_info_templi].price: 1000
refund_info_quantity: 0
total_sale_price: 2000
total_refund_price: 1000

ot
=2
T
i

POS_3.1.11_001 | index | : 1
day1: 6
month1: 11
year1: 2017

sale_info_templil.name: “snack”

sale_info_templi].price: 1000

12
Im
2
1
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sale_info_templi].quantity: O
refund_info_templi].name: “snack”
refund_info_templi].price: 1000
refund_info_quantity: 1
total_sale_price: 2000
total_refund_price: 1000

POS_3.1.11_002

index | : 1

day1: 6

month1: 11

year1: 2017
sale_info_templi].name: “snack”
sale_info_temp]i].price: 1000
sale_info_templi].quantity: 1
refund_info_templ[i].name: “snack”
refund_info_templi].price: 1000
refund_info_quantity: 0
total_sale_price: 2000
total_refund_price: 1000

fot
r2
T
n

POS_3.1.11_003

index | =1

day1: 6

month1 : 11

year1: 2017
sale_info_templil.name: “snack”
sale_info_temp]i].price: 1000
sale_info_templi].quantity: 1
refund_info_templ[i].name: “snack”
refund_info_templi].price: 1000
refund_info_quantity: 1
total_sale_price:2000
total_refund_price:1000

ot
=
M
i

POS_3.1.12_000

settle_flag: 2
get_time_flag: 0
check: 0

year: 2017
month: 11

day: 6

hour: 3

min: 47

start: 1

check : 0
get_time_flag: 0
update_flag: 0

return int: 0

Team 5
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end: 100

POS_3.1.12_001 | settle_flag: 1

check: 1
year: 2017
month: 11
day: 6
hour: 3
min: 47
start: O
end: 100

get_time_flag: 1

check = 0;
get_time_flag :0
update_flag 0

return int 2

2.2 Test items

<Table 3 Test Design Identification> &=

2.3 Input specifications

<Table 4 Test Case Identification> &=

2.4 Output specifications

<Table 4 Test Case Identification

Environmental needs

(1) Hardware & Platform

gcc complier/linker

(2) Continuous Testing & Integrated Platform Environment

Cygwin
(3) Framework
CUnit
Unit test summary report

4.1 Test summary report identifier

(]|
HAE Q)

> REX

Team 5
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Identifier Result
POS_1.3_000 Passed
@ © @ sonhayoung@sonhayoung-VirtualBox: ~
m(F) HE(E) 27I(v) AH4(s) EHOIQ(T) =3E(H)
sonhayoung@sonhayoung-VirtualBox:~$ ./1_3
cUnit - A unit testing framework for C - Version 2.1-3
http://cunit.sourceforge.net/
Suite: testing a suite
Test: POS_1.3 000() ...passed
Test: POS_1.3 001() ...passed
Test: POS_1.3_002() ...passed
Test: POS_1.3 003() ...passed
Test: POS_1.3 004() ...passed
Test: POS_1.3 005() ...passed
Test: POS_1.3 006() ...passed
Test: POS_1.3 @07() ...passed
Run Summary: Type Total Ran Passed Failed Inactive
suites 1 1 WE ] ]
tests 8 8 8 0
asserts 14 14 14 WE!
Elapsed time = 0.000 seconds
sonhayoung@sonhayoung-VirtualBox:~$ ||
POS_1.3_001 Passed
POS_1.3_002 Passed
POS_1.3_003 Passed
POS_1.3_004 Passed
POS_1.3_005 Passed
POS_1.3_006 Passed
POS_1.3_007 Passed
POS_1.4_000 Passed
=] Team 5 14
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@8 6 sonhayoung@sonhayoung-VirtualBox: ~

IHU(F) WE(E) 27I(v) H4(S) HOZ(T) =2E(H)
suites 1 1 nfa
tests 2 2 1
asserts 2 2 1
Flapsed time =  0.000 seconds

konhayoung@sonhayoung-VirtualBox:~$ gcc -0 1 4 1 4.c -leunit
sonhayoung@sonhayoung-VirtualBox:~5 ./1 4

CUnit - A unit testing framework for C - Version 2.1-3

http://cunit.sourceforge.netf

Suite: testing a suite
Test: POS 1.4 000() ...passed
Test: POS 1.4 001() ...passed

Run Summary: Type Total Ran Passed Failed Inactive
suites 1 n/a (] 0

tests 2 0 0

asserts 2 0 nfa

Elapsed time =  0.000 seconds
sonhayoung@sonhayoung-VirtualBox:~§ |

Ver. 1.0.2

(]|
=]

POS_1.4_001 Passed
POS_2.1_000 Passed
@@ sonhayoung@sonhayoung-VirtualBox: ~
IY(F) ME(E) 27I(v) ZM(s) EHOI'E(T) =23H(H)
sonhayoung@sonhayoung-VirtualBox:~$ gcc -0 2_1 2_1.c -lcunit
sonhayoung@sonhayoung-VirtualBox:~$ ./2 1
Cunit - A unit testing framework for C - Version 2.1-3
http://cunit.sourceforge.net/
Suite: testing a suite
Test: P0OS_2.1_000() ...passed
Test: P0OS_2.1_001() ...passed
Test: P0OS_2.1_002() ...passed
Test: P0OS_2.1_003() ...passed
Test: P0OS_2.1_004() ...passed
Test: P0OS_2.1_005() ...passed
Test: P0OS_2.1_006() ...passed
Run Summary: Type Total Ran Passed Failed Inactive
suites 1 1 n/a 0 0
tests 7 7 7 0 ]
asserts 7 7 7 0 n/a
Elapsed time =  0.800 seconds
sonhayoung@sonhayoung-VirtualBox:~$ ||
POS_2.1 001 Passed
POS_2.1.002 Passed
POS_2.1.003 Passed
POS_2.1_004 Passed
POS_2.1_005 Passed
POS_2.1_006 Passed
= Team 5 15
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POS_2.3_000 Passed
@ ® & sonhayoung@sonhayoung-VirtualBox: ~
OHA(F) HE(E) B7I(v) H4(S) EHOE(T) =32(H)
sonhayoung@sonhayoung-virtualBox:~$ ./2 3
CUnit - A unit testing framework for C - Version 2.1-3
http://cunit.sourceforge.net/
Suite: testing a suite
Test: P0OS_2.3_000() ...passed
Test: POS_2.3 001() ...passed
Test: P0OS_2.3_002() ...passed
Test: POS 2.3 003() ...passed
Test: P0OS_2.3_004() ...passed
Test: _2.3_005() ...passed
Test: P0S_2.3_006() ...passed
Test: P0OS_2.3_007() ...passed
Run Summary: Type Total Ran Passed Failed Inactive
suites 1 1 n/a ] 0
tests 8 8 (V]
asserts 32 32 32 n/a
Elapsed time = 0.080 seconds
sonhayoung@sonhayoung-VirtualBox:~$ ]
POS_2.3_001 Passed
POS_2.3_002 Passed
POS_2.3.003 Passed
POS_2.3_004 Passed
POS_2.3_005 Passed
POS_2.3_006 Passed
POS_2.3_007 Passed
POS_2.4 000 Passed
@ ® & sonhayoung@sonhayoung-VirtualBox: ~
me(F) HE(E) 22I(v) HA4(s) EHOIE(T) =2H(H)
sonhayoung@sonhayoung-VirtualBox:~$ gcc -0 2_4 2_4.c -lecunit
sonhayoung@sonhayoung-VirtualBox:~$ ./2_4
CUnit - A unit testing framework for C - Version 2.1-3
http://cunit.sourceforge.net/
1 POS_2.4_ ...passed
st: P0S_2.4_001() ...passed
st: P0OS_2.4 () ...passed
st: POS_2.4 | . .passed
st: POS_2.4 ...passed
: POS_2.4 005() ...passed
: POS_2.4_006() ...passed
RUN Summary: Total Ran Passed Failed Inactive
1 1 nfa ] ]
7 7 7 0] 0
asserts 14 14 14 n/a
Elapsed time = 0.000 seconds
sonhayoung@sonhayoung-VirtualBox:~$ ]
POS_2.4 001 Passed
POS_2.4 002 Passed
POS_2.4 003 Passed
POS_2.4 004 Passed
=] Team 5 16
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POS_2.4 005 Passed
POS_2.4 006 Passed
POS_2.5.1_000 | passed
@& sonhayoung@sonhayoung-VirtualBox: ~
I'9(F) HE(E) B2I(v) H4(S) EHOIZ(T) =22(H)
sonhayoung@sonhayoung-VirtualBox:~§ ./2 5 1
CUnit - A unit testing framework for C - Version 2.1-3
http://cunit.sourceforge.net/
Suite: testing a suite
Test: POS 2.5. ...passed
Test: POS 2.5 .. .passed
Test: POS 2.5. ...passed
Test: POS 2.5.1 ...passed
Test: POS 2.5. .. .passed
Test: POS 2.5 ...passed
Test: POS 2.5. ...passed
Test: POS 2.5. .. .passed
Run Summary:  Type Total  Ran Passed Failed Inactive
suites 1 1 nfa 0 ]
tests 8 0 0
asserts 3 ] n/a
Elapsed time =  0.800 seconds
sonhayoung@sonhayoung-VirtualBox:~§ |
POS_2.5.1.001 | passed
POS_2.5.1.002 | passed
POS_2.5.1.003 | passed
POS_2.5.1_004 | passed
POS_2.5.1_005 | passed
POS_2.5.1_006 | passed
POS_2.5.1_007 | passed
POS_2.5.2_000 | passed
ol & Team 5 17
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O & © sonhayoung@sonhayoung-VirtualBox: ~

LUF) HE(E) 27I(v) HA(S) HOlE(T) =2T(H)
suites 1 1 n/a
tests 2 2 1
asserts 12 12 11
Elapsed time =  0.000 seconds
sonhayoung@sonhayoung-VirtualBox:~5 gcc -0 2 5 2 2 5 2.c -lcunit
sonhayoung@sonhayoung-VirtualBox:~$ ./2 5 2

CUnit - A unit testing framework for C - Version 2.1-3

http://cunit.sourceforge.net/

Suite: testing a suite
Test: P0S 2.5.2 080() ...passed
Test: P0S_2.5.2_001() ...passed

Run Summary: Type Total Ran Passed Failed Inactive
suites 1 n/a
tests 2
asserts 2
Elapsed time =  0.000 seconds
sonhayoung@sonhayoung-VirtualBox:~$

POS_2.5.2_001

passed

Ver. 1.0.2

POS_2.6.1_000

passed

? sonhayoung@sonhayoung-VirtualBox: ~

CUnit - A unit testing framework for C - Version 2.1-3
http://cunit.sourceforge.net/

Suite: testing a suite
Test: P0S_2.6.1_000() ...

Casher Screen
Display
Can not Refund this Receipt
passed
Test: POS_2.6.1_001() ...

Casher Screen
Display
Can not Refund this Receipt
passed
Test: P0S_2.6.1_002() ...

Casher Screen

Display

Can not Refund this Receiptpassed
Test: P0S_2.6.1_003() ...passed
Test: P0S_2.6.1_004() ...passed
Test: P0S_2.6.1_005() ...passed

Run Summary: Type Total Ran Passed Failed Inactive
suites 1 1 n/a i} (i}

tests 6 6 6 i} 0

asserts 6 6 6 (i} nfa

Elapsed time = 0.000 seconds
sonhayoung@sonhayoung-virtualBox:~$ [l

POS_2.6.1_001

passed

POS_2.6.1_002

passed

POS_2.6.1_003

passed

POS_2.6.1_004

passed

POS_2.6.1_005

passed

POS_2.6.2_000

passed

Team 5

18




) sonhayoung@sonhayoung-VirtualBox: ~
tests E 2

asserts 6 4]

Elapsed time = 0.000 seconds

sonhayoung@sonhayoung-VirtualBox:~$ gcc -o
sonhayoung@sonhayoung-VirtualBox:~S ./2 6 2

CuUnit - A unit testing framework for C - Version 2.1-3
http://cunit.sourceforge.net/

Suite: testing a suite
Test: P05_2.6.2_000() ...passed
Test: PDS_2.6.2_001() ...passed
Test: P0S_2.6.2_002() ...passed
Run Summary: Type Total Ran Passed Failed Inactive
suites y 0 0
tests 0 ]
asserts 6 0 nj/a

Elapsed time = 0.000 seconds
sonhayoung@sonhayoung-VirtualBox:~$ ||

POS_2.6.2_001

passed

Ver. 1.0.2

POS_2.6.2_002

passed

POS_2.7.1_000

passed

sonhayoung@sonhayoung-VirtualBox: ~

sonhayoung@sonhayoung-VirtualBox:~% gcc -0 2 7 1
sonhayoung@sonhayoung-VirtualBox:~$ ./2 7 1

27 1.c -leunit

CUnit - A unit testing framework for C - Version 2.1-3
http://cunit.sourceforge.net/

Suite: testing a suite
Test: P0S_2.7.1 000() ...passed
Test: P0S_2.7.1 001() ...passed

Type Total  Ran Passed Failed Inactive
suites 1 1 n/a ] 0

tests 2 2 0 i}
asserts 2 2 0 n/a

0.000 seconds

Elapsed time =
sonhayoung@sonhayoung-VirtualBox:~$ |

POS_2.7.1_001

passed

POS_3.1.4_000

Passed

Team 5
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POS_3.1.4_001

POS_3.1.5_000

POS_3.1.5_001

POS_3.1.6_000

Passed

quantity : 1 / price

5000

SO0

SO0

J price : 1000 / sum_price : 1000

5000

Ver. 1.0.2

» 1000

Team 5

20




POS_3.1.6_001

D

POS_3.1.7_000

2017.11.06 12:07
4500

2017.11. 06 12:

Total Refund Money 4500

4500

Jprice 1/ sum_price : 3000

4500

Ver. 1.0.2

POS_3.1.7_001

POS_3.1.7_002

te : 2017.11.06 (9.2 .%)

: 2017.11.06.12.

eipt Num

Team 5
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Ver. 1.0.2

1 2017.11.06 (4.2 .2)

ipt Num : 2017.11.0

POS_3.1.8_000

POS_3.1.8_001

ceipt Mum : 2017.11.0¢
)

Sum_price

, 100

= CO00
e 1 2000

POS_3.1.9_000

POS_3.1.9_001

017.11.06
nd Product
e, Price, Quant
1000, 1, 10
Refund Price : 1000

POS_3.1.10_00
0

: 2017.11.06.12.19 (& .2 .® .4 .&)

POS 3.1.11._00 | Passed
0

] Team 5 22




Refund Product

Ver. 1.0.2

txtDate : 2017.11.06

Total Refund Price : 1000

POS_3.1.11_00
1

Passed

POS_3.1.11_00
2

xtDate : 2017.11.06

Sum_price

: 1000

2017.11. 06

, Quantity, Sum_price

1,

und Product

1000

Refund Price : 1000

POS_3.1.11_00
3

Refund Product
N Pri Quantity, Sum_price

1 Refund Pr

POS_3.1.12_00
0

: 2017.11. 0¢

ity, Sum_price

ce = 1000
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4.2

sonhayoung@sonhayoung-VirtualBox: ~

IA(F) HE(E) B7I(v) HAl(s) EHOE(T) =5H(H)
suites 1 1 n/a ]
tests 8 2 0
asserts 32 21 n/a

Elapsed time = 0.000 seconds
sonhayoung@sonhayoung-VirtualBox:~5$ gcc -0 3.1 12 3 1 12.c -lcunit
sonhayoung@sonhayoung-VirtualBox:~5S ./3 1 12

CUnit - A unit testing framework for C - Version 2.1-3
http://cunit.sourceforge.net/

Suite: testing a suite
Test: POS 3.1.12 000() ...passed
Test: POS 3.1.12 001() ...passed

Run Summary: Type Total Ran Passed Failed Inactive

Ver. 1.0.2

suites 1 n/a ] ]
tests 2 (] ]
asserts 8 ] WE!
Elapsed time = 0.000 seconds
sonhayoung@sonhayoung-VirtualBox:~$
POS_3.1.12_00 | Passed
1
Evaluation
Total test case: 737H

Passed: 737}

Failed: 07H

Team 5
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